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] @Reasoningbybasantsir

If it is possible to make only one meaningful word with the
second, the fifth, the sixth and the seventh letter of the
word JUDGEMENT using each letter only once in each
word, which of the following will be the last letter of that
word. If no such word can be made, give answer G’ and if
more than such word can be made, give answer ‘M’.

e 9162 JUDGMENT % Tedeh 378 T haol Ueh I T
hd EU 9sg JUDGMENT <k S8, Ui, §8 SN AT &
ﬁ%ﬁwaﬁqﬁmaﬂmwg‘r e
I AT I I162 T ST 31er 21| afe ET s vree T
FATAT ST TehaT & a1 3T 'G' FNIU TR (e U ITTereh e
I |ehd @ al 3 'M' 0

1) E
2) G
3) R
4 M
5) S



Hve iz Stateme]nts:

P<Q2G:G2I2E;CSP;C>U
Conclusions:

I.U>1

ILPSE

1) Both I and II are True
2) Only I1 is True

3) Either I or I1 is True
4) Only I is True

S) Neither I nor 11 is true

«7 @Reasoningbybasantsir



Hve iz Stateme]nts:

H=G>F;A<BZ2X;BSF
Conclusions:

LHZ2A
II. X<F

1) Both I and II are True
2) Only I1 is True

3) Either I or I1 is True
4) Only I is True

S) Neither I nor 11 is true

«7 @Reasoningbybasantsir



Hve iz Stateme]nts:

P=QSR;T=P;T>S
Conclusions:

I.Q<S

II. R<S

1) Both I and II are True
2) Only I1 is True

3) Either I or I1 is True
4) Only I is True

S) Neither I nor 11 is true

«7 @Reasoningbybasantsir
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Which of the following expression in such a manner
that “G > D & U > D” definitely holds True?

DG>R>A=D<ESU
2)GZR=A>DSE<U
3)G=R>AZ2D<E<U
4) All of the above

S) None of the above

] @Reasoningbybasantsir
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Which of the following symbols should be placed in

the blank spaces respectively (in the same order
from left to right) in order to complete the given
expression in such a manner that ""P > S" definitely
holds false?

P Q R S

1)>,2,=
2)2, =, >
3)S, <, <
4)>, 2, >
S) None of these

% @Reasoningbybasantsir
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«“{ @Reasoningbybasantsir

Statements

Only few mobile are Smart.
Only a few mobile are small
No TV is Small.

Conclusions:

I. Al TV is Smart

I1. Only a few Smart is Small.

1) Conclusion only I follows

2) Conclusion only II follows

3) Either conclusion I or II follows
4) Neither conclusion I nor II follows
5) Both conclusions I and II follows
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uf @Reasoningbybasantsir

Statements:

Few Pens are Pencils.

No Pencil is Eraser.

All Erasers are Books.
Conclusions:

I. Some books are erasers.
I1. Some pens are erasers.

1) Only conclusion I follows
2) Only conclusion II follows
3) either conclusion I or II follows

4) Neither I nor 11 follows
5) Both conclusions follow
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uf @Reasoningbybasantsir

Statements:

Some bananas are mangoes.
All apples are bananas.
Some grapes are apples.
Conclusions:

I. Some apples are mangoes.
I1. Some grapes are bananas

1) Only conclusion I follows
2) Only conclusion II follows
3) either conclusion I or II follows

4) Neither I nor 11 follows
5) Both conclusions follow
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] @Reasoningbybasantsir

Six members of a family E, K, O, F, D and W are
related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

Teh UGN & B8 Ga&T E, K, O, F, D 3T W Teh T&
| Hefed g1 E, K &1 {Uat ¢ S D &7 3ehei a1 9 g1 E
h ST ATaTRd ATt W g RrereRT i wrg T2t
31 O, E &1 FheA [T WaIX 21 F, K <ht U=t 21
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«7 @Reasoningbybasantsir

Six members of a family E, K, O, F, D and W are
related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

How many females are there in the family?

01. One

02. Two

03. Three

04. Four

05. Cannot be determined
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«7 @Reasoningbybasantsir

Six members of a family E, K, O, F, D and W are
related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

If Q is married to K then how is Q related to O?
01. Daughter

02. Sister

03. Mother

04. Niece

05. Daughter-in-law



Live Quiz ]
| Six members of a family E, K, O, F, D and W are

related to each other. E is the father of K who is the
only son of D. The only Unmarried sister-in-law of
E is W who has no brother. O is the only sibling of
E. F is the daughter of K.

How is F related to D?

01. Granddaughter

02. Sister

03. Mother

04. Niece

05. Daughter

«7 @Reasoningbybasantsir



1

In a certain code language,

‘manager should go office’ is written as ‘la ta ja sa’

‘on time at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

What is the code for ‘at’?
(Dra

(2) pa

(3) Either ra or pa

(4) da

(5) None of these

] @Reasoningbybasantsir



1

In a certain code language,

‘manager should go office’ is written as ‘la ta ja sa’

‘on time at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

Which of the following is the code for ‘professional’?
(1) ta

(2) da

3) 1a

(4) fa

(5) None of these

] @Reasoningbybasantsir
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In a certain code language,

‘manager should go office’ is written as ‘la ta ja sa’
‘ontime at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

Whatdoes ‘ta’ standfor?
(1) Manager

(2) office

(3) professional

(4) Ontime

(5) None of these

«7 @Reasoningbybasantsir
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uf @Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G and H are sitting in a line
and equal number of persons are facing north and south
direction. Not more than two consecutive adjacent persons
face in same direction. Persons at extreme end face in
same direction. A sits third to the right of D, who sits
immediate right of H. H faces north direction. Two
persons sit between A and E. D does not sit at extreme end.
B sits immediate right of C and both face south direction.
B and A are not adjacent to each other. G does not face
south.

A ARE A, B, C, D, E, F, G 31T H Ueh {GT H 93 g 3T
ﬁﬁwﬁsw%w%mﬁﬁ&fw%w%w
aﬁaﬁmﬁmar—qﬁswﬁﬁwéam#r%lww
oIS sTfvh Uek &1 {S91T o TF0E &l A, D 3 TU HIEY T W
AT, W1 H % Frereaw =18 Se1 ) Hwﬁm%w%m‘r
Itk A SIRE F AT I3 ¥ D SRWAHN TSR B, CF
feheaw 318 98T & ST T gieroT faum & T @ 31 B 3R A
Ueh GO o Trieheeer T8 2| Gaf&mémm@rﬁ"r%l



Live Quiz ]

Eight persons A, B, C, D, E, F, G and H are sitting in a line
and equal number of persons are facing north and south
direction. Not more than two consecutive adjacent persons
face in same direction. Persons at extreme end face in
same direction. A sits third to the right of D, who sits
immediate right of H. H faces north direction. Two
persons sit between A and E. D does not sit at extreme end.
B sits immediate right of C and both face south direction.
B and A are not adjacent to each other. G does not face
south.

Who sits immediate left of D?

1) G

2) A

3)B

4) E

5) F

@Reasoningbybasantsir



Live Quiz ]

Eight persons A, B, C, D, E, F, G and H are sitting in a line
and equal number of persons are facing north and south
direction. Not more than two consecutive adjacent persons
face in same direction. Persons at extreme end face in
same direction. A sits third to the right of D, who sits
immediate right of H. H faces north direction. Two
persons sit between A and E. D does not sit at extreme end.
B sits immediate right of C and both face south direction.
B and A are not adjacent to each other. G does not face
south.

Who sits third to the left of A?

1)B

2)C

3)E

4) F

5) D

@Reasoningbybasantsir



Live Quiz ]

Eight persons A, B, C, D, E, F, G and H are sitting in a line
and equal number of persons are facing north and south
direction. Not more than two consecutive adjacent persons
face in same direction. Persons at extreme end face in
same direction. A sits third to the right of D, who sits
immediate right of H. H faces north direction. Two
persons sit between A and E. D does not sit at extreme end.
B sits immediate right of C and both face south direction.
B and A are not adjacent to each other. G does not face
south.

How many persons sit between A and H?

1) Three

2) Two

3) Four

4) One

5) Five

@Reasoningbybasantsir



Live Quiz ]

Eight persons A, B, C, D, E, F, G and H are sitting in a line
and equal number of persons are facing north and south
direction. Not more than two consecutive adjacent persons
face in same direction. Persons at extreme end face in
same direction. A sits third to the right of D, who sits
immediate right of H. H faces north direction. Two
persons sit between A and E. D does not sit at extreme end.
B sits immediate right of C and both face south direction.
B and A are not adjacent to each other. G does not face
south.

Find the odd one out.

1) E

2) A

3)H

4) G

5) D

“Z @Reasoningbybasantsir



Live Quiz ]

Eight persons A, B, C, D, E, F, G and H are sitting in a line
and equal number of persons are facing north and south
direction. Not more than two consecutive adjacent persons
face in same direction. Persons at extreme end face in
same direction. A sits third to the right of D, who sits
immediate right of H. H faces north direction. Two
persons sit between A and E. D does not sit at extreme end.
B sits immediate right of C and both face south direction.
B and A are not adjacent to each other. G does not face
south.

How many persons sit to the left of H?

1) Five

2) Four

3) One

4) Six

S) None of the above

@Reasoningbybasantsir
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uf @Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

HATS ATE A, B, C, D, E, F, G 3T H o THS FTT-3Te1T I
YT 1982, 1983, 1992, 1996, 1997, 2004, 2006, 2013 (STEH T&T
TR 3HT A | B1) | Uk Sk | MW 21 ok 91 AT a9 2022 WX
TUTT T ATAT 1 D o TTHS <hl TUHT Teh foree Heeam o a9 &
T ATAT 2, AThT 1997 A1l A TRD F AT RTIARNIAT RN G A
IU YHT Tk 1A FRAT & ST 13 ST I[UTS § TR 3 1 0TS T8t ¢l
H 371X F o S T 37X A 3R D oh &1l oh 3{a¥ § 3T1eleh § AAfehd
11 9§ & &7 1 B = UUT S SEAT AT qeh A (haT gl C, F 6 A8
TR A | UEH SITHET gl F Ugel ITHS 8 gt
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Live Quiz

«7 @Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

H's experience is calculated from the year ?

1) 1997
2) 1992
3) 1982
4) 2013
5) 2004
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Live Quiz

@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

As many people joined before G as after  ?

A
2) D
3)F
4) C
5)H
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Live Quiz

@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

How many People Joined after B?

1)2
2) 4
)R
41
S5) None
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Live Quiz

@Reasoningbybasantsir

Eight persons A, B, C, D, E, F, G, and H's experiences after
joining a bank from different years i.e. 1982, 1983, 1992, 1996,
1997, 2004, 2006, 2013 (not necessarily in the same order) are
calculated on the base year 2022. D's experience is calculated
from an odd numbered year but not from 1997. The difference
between A and D is 9 years. G's has worked for the time which is
multiple of 13 but not a multiple of 3. The difference between H
and F is more than the difference between A and D but less than
11 years. B has worked for perfect square number years. C
joined after F but before A. F did not join first

Find the odd one out.

) H
2)F
3) D
4) B
5) G
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] @Reasoningbybasantsir

Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.
m—qﬁswﬁmﬁ%ﬁmqﬁmmwﬁ wqﬁm
HTH FE ITA IR RTAE P, Q, R, S, T, U 3T
T&*Tﬁﬁs!:ﬁsmrfr%‘rl mw amu‘q'%ﬁzs mmﬁ?g
Teieleh, T8Tdeh HETUseh, HgTIa e I fHavTeh 2
asqﬁ’ramua’i?u'q'% 31T ToTTUeh ShUt T T8 (et e 21 P
I Q%srrszrém?fr%rr{—qﬁs%l P aﬁwﬁ%ww I TE
%ﬁzs mﬁww%maﬁ?s zra‘r FIR, S TR

3t U o v 21 1 i
R Er e o i
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Live Quiz

@Reasoningbybasantsir

Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.

Which of the following person working as a Officer?

)P
2)Q
3)R
4)S
5) V
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Live Quiz

«7 @Reasoningbybasantsir

Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.

Whose designation is just above the S's designation?

1) Manager

2) Officer

)V

4) Both Options 2 and 3
S) Both options 1 and 3
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Live Quiz

«7 @Reasoningbybasantsir

Seven persons are working in the same company on different
designations. The person working on that designation is named
P,Q,R,S, T, U, and V but not necessarily in the same order.
They have different designations starting from the clerk, officer,
Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of
the company and the clerk is the lowermost post of the
company. Only four persons sit between P and Q. P is not
working at a position of officer nor as a clerk. There are two
designations between R and S. R is senior to S. R is a General
manager or Director. More than two designations are there
between T and U. U is working as a designation of clerk in the
company.

How many designation between P and V?

1) One

2) Three

3) More than three
4) Two

S) None of the above



Live Quiz ]

Which of the following statement is correct regarding
v?

I) V is a manager.

II) The position which is just above V is T's position.
III) Two designation between P and V.

1) Only statement I is correct.
2) Only statement II is correct.
3) Only statement III is correct.
4) All are correct.

S) All are incorrect.

“Z @Reasoningbybasantsir
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] @Reasoningbybasantsir

Seven persons are sitting around a triangular table
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

A ¥ G T Ueh FIYSITehR U o TR 3R AT A<k
%%ﬁﬁmwmwaﬁ%m‘raﬁ?a‘r
—qﬁﬁa%%aﬁ'{qzﬁaﬁ'{aﬁ?—aﬁsa%%lmﬁwem
T hg T TR B G, A ARETHETTWEHEI D, GF
31 I g 3R C, E o 31k 29 21 F, D & fAehe T2
2



Live Quiz

1

«7 @Reasoningbybasantsir

Seven persons are sitting around a triangular table
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

Who sits to the immediate left of E?

01. A

02. B

03.C

04.D

05. G



Live Quiz

1

«7 @Reasoningbybasantsir

Seven persons are sitting around a triangular table
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

How many people sit between A and F, when
counted from the left of A?

01. One

02. Two

03. Three

04. Four

05. None of these
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«7 @Reasoningbybasantsir

Seven persons are sitting around a triangular table
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

If all the people are arranged alphabetical order
from A in clockwise direction then the position of
how many people are unchanged?

01. One

02. Two

03. Three

04. None

05. Four



1

Seven persons are sitting around a triangular table
from A to G with equal distance on each side. Two
people are sitting on two sides and three people are
sitting on one side. All the people are facing
towards the centre. G, A and E are on the same
side. D is to the immediate left of G and C is to the
immediate right of E. F is not near to D.

Four of the following five are alike in a certain way
and hence form a group. Which one of the
following does not belong to the group?

01.BF
02. CE
03.DB

<7 @Reasoningbybasantsir 05. A E



Live Quiz

] @Reasoningbybasantsir

E‘l@ht—pgople H, F,D,K, R, T, M and S are sitting
in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

AR A H,F,D,K,R, T, M 3 STRUGFHIS &
3T IThT HE& 3T fS9TT T ST Bl R 3R D & &=

o safn 1 D Ufs 6 2T SR A AT B T, K 6 7
T TEY T W E 3 D o Fewe 78 1 M ufe &
AT BR IR S, DF PFc AR F, HF e &
TE T W 3



Live Quiz

«7 @Reasoningbybasantsir

E‘l@ht—pgople H, F,D,K, R, T, M and S are sitting
in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

Who sits to the extreme left end of the row?

01.M
02. K
03. H
04.D
05. T



Live Quiz

«7 @Reasoningbybasantsir

E‘l@ht—pgople H, F,D,K, R, T, M and S are sitting
in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

Who sits fourth to the left of F?



Live Quiz

«7 @Reasoningbybasantsir

E‘l@ht—pgople H, F,D,K, R, T, M and S are sitting
in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

How many people sit between H and R?

01. One
02. Two
03. Three
04. Four
05. None



Live Quiz

«7 @Reasoningbybasantsir

E‘l@ht—pgople H, F,D,K, R, T, M and S are sitting
in a row and facing towards the north direction.
There are three people between R and D. D is third
from the right end of the row. T is second to the
right of K and is not near to D. M is at the extreme
end of the row. S is not near to D. F is second to the
right of H.

How many people sit to the right of T?

01. Five

02. Six

03. Four

04. Seven

05. None of these



Live Quiz
' Input: 56148 541683 63215 52197

Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

«7 @Reasoningbybasantsir



«7 @Reasoningbybasantsir

Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

In the last step, which number is 3rd from the right
end of the given input?

a) 41
b) 16
¢) 14
d) 18
e) None of these



«7 @Reasoningbybasantsir

Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the sum of last three numbers in step IV of
the given input?

a) 30
b) 58
c) 46
d) 40
e) None of these



] @Reasoningbybasantsir

Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which number is 4th from the left end in step II of the
given input?

a) 1129
b) 1159
¢) 1126
d) 2936
e) None of these



] @Reasoningbybasantsir

Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the absolute difference of the 3rd number

from right end in step III and 2nd number from the left
end in step I11?

a) 37

b) 26

¢) 25

d) 20

e) None of these



] @Reasoningbybasantsir

Input: 56148 3_4145 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which among the following is the first number from
left end in step IV of the given input?

a) 08

b) 10

¢) 16

d) 18

e) None of these
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